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Note: 1) All Questions are compulsory a2l
2) Figure to the right indicates full marks L

1. A Choose the correct alternatives (any eight) oo _ o H08)

(i) Liberalisation is based on .'Iide{:i:s_,_. ;
(Capitalist, Socialist, Communist) Y

(ii)  Economic liberalisation was adopted by Prime Minister :
(Mr. Manmohan Singh, Mr. Rajiv Gandhn Mr, Nara&lmha Rao)

b %.

(iif)  Article of the Ccnsmutloﬁ abolished the practu‘:e of untauchablhty
(15,16, 17) - 3

(iv)  The objective of Right to Freedom of Rﬁeligioﬁ-.‘is tb.éﬁStain thc principle of

(Communalism, Regionalism, Secularism)

(v) . factoris formed of all lrvmg orgambm
(Biotic, Abiotic, Robonc) X Il
(vi) 5 dir_c‘ctly__.fé;ﬁﬂ on Eﬁroducers.

(Herbivores, Omnivores, Carnivores)

(vii) arises when goal dir.@.ci.gﬁ?bi?ﬁ&i/idu\r is blocked or thwarted.
(Frustration, Stress, Conflict) -

(viii) ~ Eustress is also known as
(Positive, Negati've, Neutral.‘)

e

{ix) : means formin g close associations with trusted friends and co-workers.
(Nf.‘fW(]l‘klIlQ, Relaxation, Social support)

(x)  Win-Win is the outcome of | strategy.
(Collaborating, Compromi sing, Smoothing)

1. B State whether the statement is True or False 07

(i)  The process of moving for a period of time in response of labour or climate
conditions is called asseasonal migration.

(i)  In India, the concept of privatisation gained importance in the post reform period
since 1991.
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(viii)  Intergroup conflict occurs within an individual.

2.
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(iif)  Magna Carta was signed in 1215.
(iv)  Article 14 of Indian Constitution provides for Equality before Law

(v)  Overuse of the renewable resources for short gain may shorten a cOun‘n y s long -

term economic future.

(vi)  Degradation occurs when earth’s natural resources. are dﬁpletcd YA AN

(vii)  Stress aggravates diabetes.

(ix)  Addressors do not possess risk taking attitude.
(x)  Concealers don’t believe in taking risks. _

OR

Explain the concept of globalisation? E‘{ﬁﬂ‘ill’lb the lmpact 01L globahsauon 011"

employment. ; VO AP

. Define Human Rights. What are the cl{ér'acteristic's of human 1*1gh'fisfJ . 5
Briefly explain Fundamental .Righ'ts._as' enshr.ined i;1 'l_ndi-a_n*Coﬁstifiit-ioﬁ.
What s environmefital deg‘x"édaﬁon? Wh‘z;f are its>'ca‘us_e§?-

OR .
Discuss the im portaﬁcc of e_t_hi_c_.s" in an :;i._n‘d\ia"v‘:idﬁa_l_ s development.
Explain \'}al_'jous strategies for copiﬁg with conflict.

OR
Write short note on (any ﬂirée) .
(a) . Causes 'o-f ﬁﬂiﬂ:‘ation
(b) =~ MagnaCarta
(c) Need for sustainab le dﬁvelopm ent

(d) Causes of stress ;
(e) Types of individual conflicts
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What is liberalisation? What are the benefits and limitations of liberalisation?
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